
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jjp-10btos-jointer-planer-stand
7/18/25

JJP-10BTOS Jointer/Planer Stand
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jjp-10btos-jointer-planer-stand


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jjp-10btos-jointer-planer-stand
7/18/25

Description

Index
Number Part Number Description Size Qty

1 JJP10BT-901 Stand Top Support, Short  2

2 JJP10BT-902 Leg  4

3 JJP10BT-903 Support Plate, Long  2

4 JJP10BT-904 Support Plate, Short  2

5 JJP10BT-905 Stand Top Support, Long  2

6 TS-1540041 Hex Nut * M6 24

7 TS-2361061 Lock Washer * M6 24

8 TS-1550041 Flat Washer * M6 24

9 708315-63 Carriage Bolt * M6x12 24

10 TS-1540041 Hex Nut M6 4

11 TS-1550041 Flat Washer M6 4

12 JJP10BT-912 Rubber Foot *  4

13 TS-1482041 Hex Cap Screw * M6x20 4

14 TS-1550061 Flat Washer * M8 4

15 TS-2361081 Lock Washer * M8 4

16 TS-1504041 Socket Head Cap Screw * M8x20 4

Additional Information

Stock Number 707410-13

Products in this set

Washer | TS-1550041

https://jpw-catalog-qa-b2c-5.corevist.cloud/jjp-10btos-jointer-planer-stand

